Assignment 24

Ex 16.2.1 Compute / zyz ds along the line segment from (1,2, 0) to
©
(2,1, 3). (answer)
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Ex 16.2.2 Compute | sinzds along the line segment from (—1,2,1)

to (1,2,5). (answer) © —‘
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Ex 16.2.4 Compute / sin z dz + cos y dy along the top half of the unit

circle, from (1, 0) to(il,O).(answer) X 1__9 ":L— N
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Ex 16.2.7 Compute / ze! dz + z?y dy along the curve z = 3t, y = t2, £ 2 ‘3,&. ~ -
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Ex 16.2.11 Compute / (1/zy,1/(z + y)) - dr along the curve (2t, 5¢), - = <1I Y>
c ——

1 <t < 4. (answer)
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Ex 16.2.15 An object moves from (1,1) to (4, 8) along the path Y_Lﬂ = < ,EL _e; > ('\ , \) 4—0 L\-(l G )
!

r(t) = (¢2,%), subject to the force F = (z?,siny). Find the work done.
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Ex 16.2.16 An object moves along the line segment from (1,1) to (2, 5),
subject to the force F = (z /(22 + y?), y/(2? + y?)). Find the work
done. (answer)
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